Y1 - Autumn - Block 1 - Step 2 - Count objects

Question

Answer

a) There are 4 teddy bears.
b) There are 9 teddy bears.
Children may say that they counted one object at a time.

There are 7 apples.
Children may say that they counted one object at a time.

Practical activity: count the number of cubes from a larger group

8 frogs circled
This can be done in multiple ways.

There are 9 cars.

Possible responses:

Eva has not realised one car is missing.

Eva has missed out a car where 6 is, but counted this space.




